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COMPUTER SCIENC

SSC-I
SECTION — A (Marks 12)

Time allowed: 15 Minutes

Section — A is compulsory. All parts of this
section are to be answered on this page and

handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.
Do not use lead pencil.
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Fill the relevant bubble against each question according to curriculum: Candidate Sign.
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is developed to note the activities and
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about the document current page, number of | Quick Access |
7 total words and document layouts? Tool Bar Title Bar Formula Bar |Status Bar O O O O
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Time allowed: 2:45 Hours
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COMPUTER SCIENCE SSC-I

Total Marks Sections B and C: 43

NOTE:

Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

Q.5

SECTION — B (Marks 27)

Attempt any NINE parts. All parts carry equal marks. (9x3=27)

(i)

(xi)
(xii)

(xiii)

Computer has evolved by the passage of time. How 41" generation computer is better than the previous
generations?

How operating system performs Resource and User management?

Use of Office Automation System has improved quality of work. Justify.

Write down the properties of a good communication system.

Compare Client Server network with Peer-to-peer network.

What is meant by ‘Intellectual Property’ and ‘Information Privacy' in computer ethics?

Discuss the scopes of ‘Programmer’ and ‘Network Administrator’ in IT careers.

Differentiate between GUI and CLI in terms of usage, processing speed and display.

Write down the uses of the following: (In MS Word)

(a) Editing (b) Formatting (c) Special paste

How is data transferred over Fiber Optic Cable? Write down the characteristics which make it better than
other data transmission cables.

Compare ISDN with DSL communication lines.

List down three comparisons between Authentication and Authorization.

Printers are among main output devices. Discuss its types briefly.

SECTION — C (Marks 16)

Attempt any TWO questions. All questions carry equal marks. (2x8=16)

What is an Operating System? Which functions does it perform?

Discuss the following types of operating system:

(i) Batch process (ii) Time sharing

Explain the following in detail:

(i) Baud rate (i) Signal-to-noise ratio

Explain any two of the following along with diagrams.

(i) Radio waves  (ii) Microwaves (iii) Satellites
Why a network is created? Write down its uses.

Explain the following with diagram and characteristics.

(i) LAN (ii) WAN
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Which software performs specific tasks related Utility
1. fo the management of computer? Freeware Shareware Programs Device drivers O O O O
e O SUrkB £ 2ol fraibLud | 4/ N Sy A
Which authentication methodology is usually Username and
used to access email? PIN Password Access card  |Biometrics O O O O
St Uy PR L L8 S Sy Sl (134 I el JHKA
In MS Word Header and Footer features are | Text Paragraph Section Page
part of; Formatting Formatting Formatting Formatting O O O O
vl 4 b }"’-(Fauler)/';;ni(l [eader)u}n_ﬂimﬂlﬂ! 32y e uﬁ:’)ﬁn—-’lfr'ﬁ .ﬁ:;l&c)ﬁ“; .._E::)ﬁ&
is a code of behavior for moral and
social issues using computer technology |Computer Computer Computer Prevention
specially internet. Anti-virus Ethics Authentication |from malware O O O O
b’JIL»i’;.li-lyL(V):IJ!EILQ}'!/J#JB&:‘L;?};:{ U'}IJL?'I){'! .;._U«Jﬁl}:_:f QJ;J}):{ = (malware)zs 5
-‘L.&_Ju S&ﬂ
To reduce cross talk and electromagnetic
interference for making transmission more
reliable cable is used. Coaxial Fiber Optic Twisted Pair [SATA
5. e s A
J’Ffc}’-)l/')ﬂi;}fu']j:‘}ru@“?:}glul((}mss talk)_fl.'l_,'f)’ J”-/;/ ..,G;Tﬁ’ii Jaiy bl O O O O
-.T_J\ndb;"lj.{ c_’._LLl‘:sP‘i
Which of the following does not spread Pirated
computer virus? CDs Software Email Anti-spyware
qrﬂgfu'}ls}:ﬁrggwpﬁbﬂ im0 g ,éhijlfjv‘:jl‘._ u"-ldi /:/:JL’L?'I O O O O
In MS Word which Bar presents the information
about the document current page, number of | Quick Access
total words and document layouts? Tool Bar Title Bar Formula Bar |Status Bar O O O O
I 86 2 o 2 520 2 eodBBar 7 0 D A | ASISIES LAk A A
Y.:_@/(TI)J:.‘." “J(iayouts)
In MS Excel displays data according Data Data Conditional
g, touser giv_en condition. Dat_a Filtering |Validation Formatting Format‘tling O O O O
e QWSO £ 25y LA s BNy Bt L
topology is used to design larger
network using central hub / switch. Bus Ring Star Mesh
8. LU hublswitchVer §F pd Li S Snesindi| S £ e Vel O O O O
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Which of the following has concern with the |Information Information Information Information
correct handling of personal information? Privacy Authority Authentication |Accuracy O O O O
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is an advertising supported software,
which plays the online ads automatically. Worm Spyware Adware Virus
1L < fzs2il-(Advertising Supported) ¥.5” FFeaki L (4 ;’:ék— Fakl J A O O O O
B FE TR E L
New folder in Windows Explorer can be created Girl + Shift
by pressing__ keys. Ctrl + Shift + N |Ctrl + Home [t * SN+ ey oy
-L,Lténdbz‘lkeys \:J_é."_b_;}b;{.;' uf.u,-kgljsi‘; Del O O O O
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Total Marks Sections B and C: 43

NOTE:

Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

Q.4

SECTION — B (Marks 27)

Attempt any NINE parts. All parts carry equal marks. (9 x3=27)

(i)

(ii)
(ii)
(iv)
(v)

(vi)
(vii)
(viil)

(ix)
(x)

(xi)
(xii)

(xiil)

Write down the role of computer in the field of Manufacturing.

Briefly explain Language Processor.

Differentiate between ‘Absolute Cell Address’ and ‘Relative Cell Address'.

Draw a comparison between synchronous and asynchronous modes of transmission.
Briefly explain the following:

(a) Computer storage (b) Computer memory

List down two limitations each of Ring topology and Mesh topology.

How Worm, Adware and Virus are different from each other in their tasks?

Describe the task of the following icons in GUI operating system:

(a) Recycle bin (b) Computer (c) Folder

Why Data Validation, Conditional Formatting and Data Filtering are used in MS-Excel?
Discuss the following transmission impairments: Attenuation and Distortion.

Write three properties of Metropolitan Area Network (MAN).

How Real Time Operating System works differently from Time Sharing Operating System?

Multimodal Authentication Methodology is better than other Authentication Methodologies. Give reasons.

SECTION — C (Marks 16)

Attempt any TWO questions. All questions carry equal marks. (2x8=16)

What is meant by computer software? List down the differences between Application software and
System software.
Write down the roles of Network Administrator and Information Security Analyst.

Write down the working of following communication devices:
i. Router

ii. Switch
Write brief notes on following:
i Twisted Pair Cable

iii. Coaxial Cable

What is CDMA technology? Also describe Dial up line.
Describe any two of the following along with diagrams.

i. Client Server network
ii. Peer to Peer network

iii. Point to Point networks
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U e/ (Distortion)o /-3 (Attenuation)o 21U =y
T o F SMAN S a1 3
Sl SRS L T (Time Sharing) £72 Lol (Real Time) S
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(16~* f)fr,._)
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/2 e s Z(System software) £33l sl(Application software) £se ik (e e o snd
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(Switebr @@ (Routen) 4, @)
:Jfﬂ e L9 R0
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